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30% 70% 100% 250%

In a certain store, the profit is 320% of the cost. If the cost increases by 25% 

but the selling price remains constant, approximately what percentage of the 

selling price is the profit?

Q2.

A B C D

Mr. Thomas invested an amount of Rs. 13,900 divided in two different schemes 

A and B at the simple interest rate of 14% p.a. and 11% p.a. respec�vely. 

If the total amount of simple interest earned in 2 years be Rs. 3500, what was 

the amount invested in scheme B?

Rs. 6400 Rs. 6500 Rs. 7200 Rs. 7500

Q1.

A B C D

120 meters 180 meters 324 meters150 meters

 A train running at the speed of 60 km/hr crosses a pole in 9 seconds. 
What is the length of the train?

Q3.

A B C D

Two numbers A and B are such that the sum of 5% of A and 4% of B is two-third 
of the sum of 6% of A and 8% of B. Find the ratio of A : B.

Q5.

A B C D2 : 31 : 1 3 : 4 4 : 3

149 m 156 m 173 m 200 m  

From a point P on a level ground, the angle of elevation of the top tower is 30
if tower is 100 m high, the distance of point P from the foot of the tower is:

Q4.

A B C D
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Today is Monday. A�er 61 days, it will be:

 Wednesday Saturday  Tuesday  Thursday A B C D

Q6.

28 4
7 

years None of these

A family consists of two grandparents, two parents and three grandchildren. 
The average age of the grandparents is 67 years, that of the parents is 35 years 
and that of the grandchildren is 6 years. What is the average age of the family?

Q7.

A B C D31 5
7 

years 32 1
7 

years

How many of the following numbers are divisible by 132 ?
264, 396, 462, 792, 968,2178, 5184, 6336

4 5 6 7

Q9.

A B C D

20 80 100 200        

There are two examination rooms A and B. If 10 students are sent from A to B, 
then the number of students in each room is the same. If 20 candidates are 
sent from B to A, then the number of students in A is double the number of 
students in B. The number of students in room A is:

Q10.

A B C D

720 900 1200 1800

A hall is 15 m long and 12 m broad. If the sum of the areas of the floor and 
the ceiling is equal to the sum of the areas of four walls, the volume of the 
hall is:

A B C D

Q8.

m3 m3 m3 m3
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If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in how many 
days?

Q11.

A B C D1 7/27 49

A boat takes 90 minutes less to travel 36 miles downstream than to travel 
the same distance upstream. If the speed of the boat in still water is 10 mph, 
the speed of the stream is:

Q12.

2 mph 2.5 mph 3 mph 4 mphA B C D

331, 482, 551, 263, 383, 362, 284
Find the odd man out.Q13.

A B C D263 383331 551

14 years 19 years 33 years 38 years

A father said to his son, “I was as old as you are at the present at the time of 
your birth”.If the father’s age is 38 years now, the son’s age five years back 
was:

Q14.

A B C D

The angle between the minute hand and the hour hand of a clock when the 
time is 4:20, is:

Q15.

A B C D 0 105 20
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When 0.232323..... is converted into a fraction, then the result is:Q16.

1/5 2/9 23/99 23/100 A B C D

(0.1667)(0.8333)(0.3333) is approximately equal to:
(0.2222)(0.6667)(0.1250)

Q17.

A B C D2 2.40 2.43 2.50

Rs. 169.50 Rs. 170 Rs. 175.50 Rs. 180       

Tea worth Rs. 126 per kg and Rs. 135 per kg are mixed with a third variety in 
the ratio 1:1: 2. If the mixture is worth Rs. 153 per kg, the price of the third 
variety per kg will be:

Q18.

A B C D

B CD, ________, BCD , B CD, BC D2 4 5 6

B C D2 2 BC D3
B C D2 3 BCD7

A B C D

Q20.

15 days 20 days 25 days 30 days

A can do a certain work in the same �me in which B and C together can do it. 
If A and B together could do it in 10 days and C alone in 50 days, then B alone 
could do it in:

Q19.

A B C D
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A four person crew from Classic Colors is painting Mr. Field’s house. Michael is 
painting the front of the house. Ross is in the alley behind the house painting 
the back. Jed is painting the window frames on the north side, Shawn is on the 
south. If Michael switches places with Jed. and Jed then switches places with 
Shawn, where is Shawn?

A B

C D

in the alley behind the house

on the north side of the house

in front of the house

on the south side of the house

Mr. Carter Ms. Falk Ms. Johnson Mr. Kirk

Q22. In a four period Monday through Thursday each of the following temporary 
office worked only one day, each a different day. Ms. Johnson was scheduled 
to work on Monday, but she traded with Mr. Carter, who was originally 
scheduled to work on Wednesday. Ms. Falk traded with Mr. Kirk, who was 
originally scheduled to work on Thursday. After all the switching was done, 
who worked on Tuesday?

A B C D

Q21.

Look at this series: 80, 10, 70, 15, 60, ... What number should come next? 

20 25 30 50

Q23.

A B C D

35 36 45 54

If one-third of one-fourth of a number is 15, then three-tenth of that 
number is:

Q24.

A B C D
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The difference between a two-digit number and the number obtained by 
interchanging the digits is 36. What is the difference between the sum and 
the difference of the digits of the number if the ratio between the digits of 
the number is 1 : 2?

A B C D

Q25.

4    8   16   None of these

100 kmph 120 kmph 130 kmph

A train can travel 50% faster than a car. Both start from point A at the same 
time and reach point B 75 kms away from A at the same time. On the way, 
however, the train lost about 12.5 minutes while stopping at the stations. The 
speed of the car is:

Q26.

A B C D110 kmph

A vessel is filled with liquid. 3 parts of which are water and 5 parts syrup. 
How much of the mixture must be drawn off and replaced with water so that 
the mixture may be half water and half syrup?

Q27.

A B C D1 
3

1 
4

1
5 

1
7

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 
12 seconds respectively. In 30 minutes, how many times do they toll together?

Q28.

4 10 15 16A B C D
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575648125 584638125 584649125 585628125

What least number must be added to 1056, so that the sum is completely  
divisible by 23 ?

A B C D2 3 18 21

(935421 x 625) = ?

A B C D

Q29.

Q30.
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